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AfSTHIT J? 1. Which of the following can be used as a 'modal' as
F) TIRGATET ﬂ@ﬁ:{_ 4 well as 'main' verb ?
2) ) P HGIEIATICH P) do ) need ) could ) mind
19. @517{% T2 . T 2. What kind of pronoun are "who, what, and which "?
F) P) demonstrative ) personal
51) ) relative X)) reflexive
20. 3. The word 'recalcitrant' means-
) P) mutinous ) compliant ) docile W) amenable
5Y) TG 4. The flight is leaving shortly. Here 'shortly' is -
21, (I T oS <P) a subject ¥) a complement
’ By %) an adverbial ¥) an adjective

F)IAYR[R Q) WEOl ) VLT ) O
22. (PG Gro &*G?

5. "There is no mother but loves her child". Here 'but'is -

% <F) conjunction adjective ronoun adverb
) CHITG q) fereerm 6. )"Thejman who sj?c nei(t to me i?gr?architec:l)"lt is a-
‘}T) PN II Il ) (I 35) compound sentence ¥) complex-compound sentence
23. Wﬁ MOH CﬁTI%W? ) simple sentence X)) complex sentence

F) @ﬁ‘%ﬂ b)) RRramenR= 7. We want to take legal action against the hoodlum. In

) NICATC q) (RGN this sentence 'to' is a/an-



<P) adverb ) preposition
) conjunction X)) infinitive marker
8. Choose the correct sentence

<P) | am very better today
) He gave me some advice
) The goods are of inferior qualities

¥) He requested of my help
9. Which sentence uses inchoative verb?

<P) It is dark ) It is growing dark

) He is weak ¥) He was king
10. An 'elegy' is a -

<P) satire q) limerick

) poem of lamentation ) hymn

11. Which one is a masculine noun?

P)Miss Q) spring ) death ) liberty
12. I have no kith and kin in this town. ltis a -

<P) prepositional phrase ) adjective phrase
) conjunctional phrase X)) noun phrase

13. The antonym of 'harbinger' is

P) educator  ¥q) follower ) messenger W) leader

14. Father loves me. Here 'loves' is an example o
<P) intransitive verb ) auxiliary verb
) simple verb ¥) transitive verb
15. Complete the following sentence: Do you k

<P) the results will be published

) are the results published
) the results will publish
H) will the results publish
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